106 =ax 5z

=ARER e
p— BHIA £ 57058
- S L MEOERERER—T 3.
HEB|Z = R ;
Ao, MO TS 20d, #f{i>0
(F8) >0 L &EDRIC DRI L DT, WRTES,

Bl OE

M 106 0=0<27 DL E, ROFFXERT.

s sin2f >cos
(%)=

ke 2sin@eosf—cos0>0  Tabt  cosf2sind—1)>0

‘ I-.‘us 40 cos <0 ] ¥ 1
S lsinﬁ :‘—.}- ..... i &8 Lin "}{-:le ...... ©
0= §<2x OWMTHL &
DoMIE  §<0<T, @ o t:— aq-g-x

ko, FEAome E<o<k, %n{@{%x @

6
M| y=sin2f), y=cosfl O¥F 7L, Y : y=cosf
o k512, Wi 1= = TTT--[/--?
0==%, 2n 3r 0MTEDS, 6 :

L 0 = = : 2 g
EoT, 753756, it L .
S| SR, S S e

E0<E, Sn<o<iz @ N y=sin2g

=RTER

0 J/ilAL AUBRATER. 5 -‘{ ! i ¥ ;
0 AMFEEL THERD 5, —— f/r’\" ’_fx.'r\\.'
— WM £ 7012 Y5 TN, o o —X—
wzo<tn TANILAF T N\
=1

LD 0=0<2z 0L E, ROPFFAERG.
108 (1) sin@+cos28<0 (2) cusd"—.’i,f‘lcu&:f-i 40

109



